Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

CGM/DFCCIL/DDU acting for and on behalf of The President of India invites E-Tenders against Tender No **2025-26-DDUN-EL-T02** Closing Date/Time 27/06/2025 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	various Station buildings-Ne Ahraura & New DDU, IMD, I	, , , , , , , , , , , , , , , , , , , ,							
Bidding type	Normal Tender								
Tender Type	Open	Bidding System	Single Packet System						
Tender Closing Date Time	27/06/2025 15:00	Date Time Of Uploading Tender	14/06/2025 11:19						
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable						
Advertised Value	28997716.05	Tendering Section	ELECTRICAL						
Bidding Style	Single Rate for Each Schedule	Bidding Unit							
Earnest Money (Rs.)	295000.00	Validity of Offer (Days)	90						
Tender Doc. Cost (Rs.)	11800.00	Period of Completion	24 Months						
Contract Type	Works - General	Contract Category	Expenditure						
Bidding Start Date	14/06/2025								
Are JV allowed to bid	INO	Number of JV Member Allowed	0						
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0						
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)						

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule () 1-Hiring of manpower for maintenance of General Power Supply (E&M) assets of various Station buildings-New Unchdih, New Mirzapur, New Dagmagpur, New Ahraura & New DDU, IMD, IMSD, service buildings along with supply of listed material for a period of 24 (Twenty-Four) months in UNDN-DDUN Section under CGM/DDUN Unit of DFCCIL Stations in the section. NOTE: Minimum service charge to be quoted by tenderers on this Schedule shall be 3.00 % over the advertised value. Offer below 3% of the advertised value for this schedule, tender shall be summarily rejected.							22591584.48	Above/ Below/Par
	1	48.00	Man-Month	29698.24	1425515.52	AT Par	1425515.52	
1			, ,	erson to su (Class C Sala		work form	DDUN to UNDN	(02 person
	2	432.00	Man-Month	28317.89	12233328.48	AT Par	12233328.48	
2	items eq	uipment, a	3 shift=15	egisters, maintena person) (General/ al-person required	Night shift).			
	3	432.00	Man-Month	20677.64	8932740.48	AT Par	8932740.48	
3	location-	05 Station)) (Unskilled p	erson at one	Station =total 03	3)(08 Hour	and fault rectifices shift) (Total persentation) (Class	on=3*5=15
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu	le () 2-Supply of Material				4107036.78	Above/ Below/Par		
	1	75.00	Numbers	36.89	2766.75	AT Par	2766.75	
1								

Page 1 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

Descriptio	•						
- -		nodular one		 _			
2 2	75.00	Numbers	97.64	7323.00	AT Par	7323.00	
Description			e way switch	<u>.</u>			
3	45.00	Numbers		4047.75	AT Par	4047.75	
Description		pin modula					
4	45.00	Numbers	144.58	6506.10	AT Par	6506.10	
Description	n:- 16A	modular soc	ket				
5	40.00	Numbers	224.88	8995.20	AT Par	8995.20	
Description	n:- Fan	regulator ele	ectronic 100 w	att			
6	25.00	Numbers	1620.18	40504.50	AT Par	40504.50	
6 Description	n:- Fan	(70 Watt,12	200 mm sweep	, ISI marked)	•	<u>.</u>	
7	10.00	Numbers	2468.71	24687.10	AT Par	24687.10	
7 Description	n:- Pede	estal Fan		<u> </u>	<u> </u>	<u> </u>	
8	40.00	Numbers	1323.00	52920.00	AT Par	52920.00	
8 Description	n:- Exha	aust Fan (30	0mm sweep)			l .	
9	25.00	Numbers		732.50	AT Par	732.50	
9 Description		denser 2.25					
10	25.00	Numbers	31.08	777.00	AT Par	777.00	
10		denser 2.5 m		,,,,,,,,		, , , ,	
11	25.00	Numbers	37.29	932.25	AT Par	932.25	
11		denser 4 mf		332.23	ATTUI	332.23	
12	50.00	Numbers	30.19	1509.50	AT Par	1509.50	
12		Batten Holde		1309.30	Ai rai	1309.30	
13	20.00	Numbers	28.41	568.20	AT Par	568.20	
13		andent Hold		508.20	AT Pdf	508.20	
	15.00		er 245.07	2676 05	AT Do	2676.05	
14 14 Pagarintia		Numbers		3676.05	AT Par	3676.05	
				ain Fuse Carrier&		5040 35	
15	15.00	Numbers	396.01	5940.15	AT Par	5940.15	
				ain Fuse Carrier&			
16	100.00	Metre	23.09	2309.00	AT Par	2309.00	
			e 25 mm dia (n				
17	100.00	Numbers	22.20	2220.00	AT Par	2220.00	
Description				6 feet length) siz			
18	270.00	Metre		11388.60	AT Par	11388.60	
Description				l cable 2.5 sq mm			
19	270.00	Metre	61.95	16726.50	AT Par	16726.50	
Description	n:- FRLS	SH PVC insul	ated Industrial				
100				l cable 4 sq mm l			
20	270.00	Metre	157.16	42433.20	AT Par	42433.20	
Description	n:- FRLS	Metre SH PVC insul	157.16 ated Industrial	42433.20 I cable 10 sq mm	AT Par Multi strar	42433.20 nd copper	
Description 21	on:- FRLS	Metre SH PVC insul Metre	157.16 ated Industrial 92.58	42433.20 I cable 10 sq mm 24996.60	AT Par Multi strar AT Par	42433.20 nd copper 24996.60	
Description 21 Description	on:- FRLS	Metre SH PVC insul Metre	157.16 ated Industrial 92.58	42433.20 I cable 10 sq mm	AT Par Multi strar AT Par	42433.20 nd copper 24996.60	
Description 21 Description 22 Description 22	on:- FRLS	Metre SH PVC insul Metre	157.16 ated Industrial 92.58	42433.20 I cable 10 sq mm 24996.60	AT Par Multi strar AT Par	42433.20 nd copper 24996.60	
20	270.00 270.00 on:- FRLS	Metre SH PVC insul Metre SH PVC insul Metre	157.16 ated Industrial 92.58 ated Industrial 245.72	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00	AT Par Multi strar AT Par Multi strand AT Par	42433.20 nd copper 24996.60 d copper	q mm p
20 Description 21 Description 22 Description 23 23	270.00 270.00 on:- FRLS	Metre SH PVC insul Metre SH PVC insul Metre	157.16 ated Industrial 92.58 ated Industrial 245.72	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00	AT Par Multi strar AT Par Multi strand AT Par	42433.20 nd copper 24996.60 d copper 61430.00	q mm
20 Description 21 Description 22 Description 23 23 23	270.00 270.00 270.00 250.00 250.00	Metre 6H PVC insul Metre 6H PVC insul Metre 7XLPE armou Metre	157.16 ated Industrial 92.58 ated Industrial 245.72 ured copper ca 356.17	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50	AT Par Multi stran AT Par Multi stranc AT Par e in require AT Par	42433.20 nd copper 24996.60 d copper 61430.00 d size of 4 X 2.5 sc	
20 Description 21 Description 22 Description 23 Description 24 Description 24 Description	270.00 270.00 270.00 250.00 250.00	Metre 6H PVC insul Metre 6H PVC insul Metre 7XLPE armou Metre	157.16 ated Industrial 92.58 ated Industrial 245.72 ured copper ca 356.17	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50	AT Par Multi stran AT Par Multi stranc AT Par e in require AT Par	42433.20 nd copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50	
20 Description 21 21 Description 22 Description 23 Description 24 24	270.00 on:- FRLS 250.00 on:- PVC, 250.00 on:- PVC, 400.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre (XLPE armou Metre	157.16 ated Industrial 92.58 ated Industrial 245.72 ured copper ca 356.17 ured copper ca 156.79	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm M 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00	AT Par Multi strand Multi strand AT Par e in require AT Par e in require AT Par AT Par	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq	mm
20 Description 21 21 Description 22 Description 23 Description 24 Description 25 Description 26 Description 27 Description 28 Description 29 Description 20 Description 20 Description 21 Description 22 Description 25 Description	270.00 on:- FRLS 250.00 on:- PVC, 250.00 on:- PVC, 400.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre (XLPE armou Metre	157.16 ated Industrial 92.58 ated Industrial 245.72 ured copper ca 356.17 ured copper ca 156.79	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm M 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00	AT Par Multi strand Multi strand AT Par e in require AT Par e in require AT Par AT Par	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00	mm
20 Description 21 21 Description 22 22 Description 23 Description 24 Description 25 25 Description	270.00 270.00 270.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre (XLPE armou Metre (XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00	AT Par Multi strand AT Par Multi strand AT Par e in require	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq t 62716.00 d size of 2 X 10 sq	mm mm
20	270.00 270.00 270.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre (XLPE armou Metre (XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00	AT Par Multi strand AT Par Multi strand AT Par e in require	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00 d size of 2 X 10 sq 146320.00	mm mm
20	270.00 on:- FRLS 250.00 on:- PVC, 250.00 on:- PVC, 400.00 on:- PVC, 200.00 on:- PVC, 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ured copper ca 356.17 ured copper ca 156.79 ured copper ca 731.60 ured copper ca	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00 ble 1100 V grade 215940.00	AT Par Multi strand AT Par Multi strand AT Par e in require	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00 d size of 2 X 10 sq 146320.00 d size of 4 X 6 sq 1 215940.00	mm mm
20 Description 21 21 Description 22 Description 23 Description 24 Description 25 Description 26 Description 27 Description 28 Description 29 Description 20	270.00 270.00 270.00 270.00 250.00 250.00 250.00 200.00 200.00 200.00 200.00 200.00 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60 ared copper ca 1079.70 ared copper ca	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00 ble 1100 V grade 215940.00 ble 1100 V grade	AT Par Multi strance AT Par Mu	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq of 62716.00 d size of 2 X 10 sq 146320.00 d size of 4 X 6 sq of 215940.00 d size of 4 X 10 sq	mm mm
20	270.00 Dn:- FRLS 250.00 Dn:- PVC, 250.00 Dn:- PVC, 200.00 Dn:- PVC, 200.00 Dn:- PVC, 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60 ared copper ca 1079.70 ared copper ca	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00 ble 1100 V grade 215940.00 ble 1100 V grade 239540.00	AT Par Multi strand AT Par Multi strand AT Par e in require AT Par	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00 d size of 2 X 10 sq 146320.00 d size of 4 X 6 sq 1 215940.00 d size of 4 X 10 sq 239540.00	mm mm mm
20	270.00 on:- FRLS 250.00 on:- PVC, 250.00 on:- PVC, 400.00 on:- PVC, 200.00 on:- PVC, 200.00	Metre SH PVC insul Metre SH PVC insul Metre (XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60 ared copper ca 1079.70 ared copper ca 1197.70 ared copper ca	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00 ble 1100 V grade 215940.00 ble 1100 V grade 239540.00 ble 1100 V grade	AT Par Multi strand AT Par Multi strand AT Par e in require	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00 d size of 2 X 10 sq 146320.00 d size of 4 X 6 sq 1 215940.00 d size of 4 X 10 sq 239540.00 d size of 4 X 16sq	mm mm mm
20	270.00 270.00 270.00 270.00 250.00 250.00 250.00 200.00 200.00 200.00 200.00 200.00 200.00 200.00 200.00 200.00 200.00 200.00	Metre SH PVC insul Metre SH PVC insul Metre SH PVC insul Metre XLPE armou Metre	ated Industrial 92.58 ated Industrial 245.72 ared copper ca 356.17 ared copper ca 156.79 ared copper ca 731.60 ared copper ca 1079.70 ared copper ca 1197.70 ared copper ca	42433.20 I cable 10 sq mm 24996.60 I cable 6 sq mm N 61430.00 ble 1100 V grade 89042.50 ble 1100 V grade 62716.00 ble 1100 V grade 146320.00 ble 1100 V grade 215940.00 ble 1100 V grade 239540.00 ble 1100 V grade 100 V grade	AT Par Multi strance AT Par Mu	42433.20 and copper 24996.60 d copper 61430.00 d size of 4 X 2.5 so 89042.50 d size of 4 X 4 sq 1 62716.00 d size of 2 X 10 sq 146320.00 d size of 4 X 6 sq 1 215940.00 d size of 4 X 10 sq 239540.00	mm mm mm

Page 2 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

29	29	400.00				AT Par	391288.00	
					m cable 1100 V g			95 sq mm
	30	250.00		200.63		AT Par	50157.50	
30			kV grade XL neathed cabl		galvanized steel v	vire armoui	red 4 X 10 sq. mn	n aluminium
	31	250.00	Metre	154.30	38575.00	AT Par	38575.00	
31	Descript X 16sqm		/XLPE armou	ired cable wi	th aluminium cond	ductor 1100) V.Grade inrequir	red size of 4
	32	250.00	Metre	204.22	51055.00	AT Par	51055.00	
32	Descript X 25sqm		/XLPE armou	ıred cable wi	th aluminium cond	ductor 1100) V.Grade inrequir	red size of 4
	33	250.00	Metre	343.77	85942.50	AT Par	85942.50	
33	Descript X 35sqm		/XLPE armou	ired cable wi	th aluminium cond	ductor 1100) V.Grade inrequir	red size of 4
	34	250.00	Metre	120.57	30142.50	AT Par	30142.50	
34	Descript 2 X 10sq		/XLPE armou	ured cable wi	th aluminium con	ductor 110	0 V.Grade in requ	uired size of
	35	250.00	Metre	200.63	50157.50	AT Par	50157.50	
35	Descript X 10sqm		/XLPE armou	ired cable wi	th aluminium cond	ductor 1100	V.Grade inrequir	ed size of 4
	36	200.00	Metre	605.96	121192.00	AT Par	121192.00	
36	Descript X 70sqm		/XLPE armoι	ıred cable wi	th aluminium cond	ductor 1100) V.Grade inrequir	red size of 4
37	37	50.00	Numbers	18.15	907.50	AT Par	907.50	
57				crew clamp	type Suitable for U	·	nm cable	
38	38	50.00	Numbers	28.52	1426.00	AT Par	1426.00	
50		tion:- Terr	ninal Block S		type Suitable for L	Jpto 16 sqr	nm cable	
39	39	50.00		51.85	2592.50	AT Par	2592.50	
3			1		type Suitable for U			
40	40	50.00	Numbers		7388.50	AT Par	7388.50	
. •					Suitable for 16-50			
41	41	50.00	Numbers		11536.50	AT Par	11536.50	
					Suitable for 35-95			
42	42	50.00	Numbers	381.09	19054.50	AT Par	19054.50	
					Suitable for 70-12			
43	43	25.00			129.50	AT Par	129.50	
43				or 10 sqmm (itable for fixing i able	ın C Chanr	iei and different	size as per
	44	25.00	Numbers	9.16	229.00	AT Par	229.00	
44	Descrip requirem	tion:- Terr	minal Separa	ator plate Su or 16/25sg m	uitable for fixing			size as per
	45	25.00	Numbers	20.74	518.50	AT Par	518.50	
45				ator plate Su or 50/95 sq n	itable for fixing i	in C Chanr	nel and different	size as per
46	46	40.00	Numbers	1.78	71.20	AT Par	71.20	
70	Descript		mm Alumini	um lug				
47	47	40.00	Numbers	1.95	78.00	AT Par	78.00	
7,	Descript		mm Alumini					
48	48	40.00	Numbers	2.49	99.60	AT Par	99.60	
.0			qmm Alumir					
49	49 Descript	25.00 t ion:- 25 s	Numbers qmm long b	5.51 arrel Alumini	137.75 u lug	AT Par	137.75	
50	50 Descript	25.00	Numbers	8.79 arrel Alumini	219.75	AT Par	219.75	
	51	25.00	Numbers			AT Par	317.50	
51				parrel Alumin		ALIUI	517.50	
	52	25.00	Numbers	19.53	488.25	AT Par	488.25	
52				arrel Alumini		, i ui	.00.23	
	_ сэср	, 0 3	٦ iong b	c.,	- · • · • · •			

Page 3 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

53	53 20.00	Numbers	31.97	639.40	AT Par	639.40	
55	Description: 120	sqmm long	barrel Alumir	ium lug			
F 4	54 20.00	Numbers	40.84	816.80	AT Par	816.80	
54	Description: 150	sqmm long	barrel Alumir	ium lug	•		
	55 20.00	Numbers	51.50	1030.00	AT Par	1030.00	
55	Description: 185	sqmm long	barrel Alumir	ium lug			
56	56 25.00	Numbers	3.91	97.75	AT Par	97.75	
30	Description: - 25	sqmm short l	oarrel Alumin	ium lug			
57	57 25.00	Numbers	5.86	146.50	AT Par	146.50	
37	Description: - 35	sqmm short l	oarrel Alumin	ium lug			
58	58 25.00	Numbers	9.06	226.50	AT Par	226.50	
5	Description: 50	sqmm short l	parrel Alumin	ium lug			
59	59 20.00	Numbers	13.67	273.40	AT Par	273.40	
J 9	Description: 70	sqmm short l	parrel Alumin	ium lug			
60	60 20.00	Numbers	24.86	497.20	AT Par	497.20	
00	Description: 120	sqmm short	: barrel Alumi	nium lug			
61	61 20.00	Numbers	31.08	621.60	AT Par	621.60	
-	Description: 150		barrel Alumi				
62	62 20.00		39.96	799.20	AT Par	799.20	
	Description: 185					<u> </u>	
63	63 40.00			147.20	AT Par	147.20	
	Description: 2.5						
64	64 40.00		6.79	271.60	AT Par	271.60	
	Description:- 4 so					<u> </u>	
65	65 40.00		7.34	293.60	AT Par	293.60	
	Description:- 6 so	· · · · · · · · · · · · · · · · · · ·			1		
66	66 40.00		10.83	433.20	AT Par	433.20	
	Description: 10					1	
67	67 40.00		13.33	533.20	AT Par	533.20	
	Description: 16			762.60	4.7.0	762.60	
68	68 20.00		38.18	763.60	AT Par	763.60	
	Description: - 25			_	AT Daw	1207.60	
69	69 20.00			1207.60	AT Par	1207.60	
	Description:- 35 s 70 20.00		86.13		AT Par	1722.60	
70	Description: 50			1722.60	AT Par	1722.60	
	71 20.00		138.52	2770.40	AT Par	2770.40	
71	Description: 70 :				Al Pal	2770.40	
	72 20.00		- ' '	4741.40	AT Par	4741.40	
72	Description: 120	I			ALFOI	7/71.40	
	73 20.00		377.37	7547.40	AT Par	7547.40	
73	Description: 185				/ (T U U	73-77.70	
	74 20.00		26.64	532.80	AT Par	532.80	
74	Description: 25					232.00	
	75 20.00		39.07	781.40	AT Par	781.40	
75	Description: 35				1	3-113	
	76 12.00			724.56	AT Par	724.56	
76	Description: 50				ı <u>l</u>	I	
77	77 12.00		95.90	1150.80	AT Par	1150.80	
77	Description:- 70				<u>. </u>	l	
70	78 12.00			2120.40	AT Par	2120.40	
78	Description: 120	sqmm Shor	barrel Coppe	er lug	<u>. </u>	I	
70	79 12.00			2663.76	AT Par	2663.76	
79	Description: 150			er lug	· L		
	80 12.00	Numbers	285.91	3430.92	AT Par	3430.92	
80					•	1	

Page 4 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

	Descrip	tion:- 1859	samm Short	barrel Coppe	er lua			
	81	70.00	Numbers	13.16	921.20	AT Par	921.20	
81	Descrip			pe (1.80cm >				
	82	70.00	Numbers	33.81	2366.70	AT Par	2366.70	
82	Descrip	tion:- HT T	ape			I.		
	83	20.00	Numbers	302.16	6043.20	AT Par	6043.20	
83					ctor Switch 6A	<u> </u>	l	
	84	20.00	Numbers		7807.60	AT Par	7807.60	
84	Descrip	tion:- Pane	el mounted \	Voltage Selec	tor Switch 6A	I.		
	85	75.00	Numbers	165.42	12406.50	AT Par	12406.50	
85	Descrip	tion:- Pane	el mounted l	ED indication	n light 240 volt	I	L	
	86	100.00	Numbers	194.64	19464.00	AT Par	19464.00	
86	Descrip	tion:- Sing	le pole MCB	6A-32A		I	L	
	87	70.00	Numbers	615.26	43068.20	AT Par	43068.20	
87	Descrip	tion:- Doul	ble pole MC	3 6A- 32A		I	L	
	88	25.00	Numbers		31264.25	AT Par	31264.25	
88	Descrip	tion:- 04 p	ole MCB 6-3	2 AMP 415V/	440V 50 Hz	I		
	89	15.00	Numbers	1792.00	26880.00	AT Par	26880.00	
89	Descrip	tion:- 04 p	ole MCB 40-	63 AMP 415\	//440V 50 Hz	I	L	
	90	10.00	Numbers		26400.70	AT Par	26400.70	
90	Descrip	tion:- 4 po	le MCCB16/2	25/32 amp 41	15V/440V 50 Hz	I.		
	91	10.00	Numbers	5468.74	54687.40	AT Par	54687.40	
91	Descrip	tion:- 4 po	le MCCB 63	amp 415V/44	0V 50 Hz	<u>I</u>	l.	
	92	5.00	Numbers	6401.69	32008.45	AT Par	32008.45	
92	Descrip	tion:- 4 po	le MCCB125	amp 415V/4	40V 50 Hz	I.	l	
	93	4.00	Each	12394.48	49577.92	AT Par	49577.92	
93	mm long with G A	(100 mm MCB and S	i. thread pro Stud termina	ojectional), fo als (For moun	n Long Double Arr oundation Bolts, o iting inside base p ab, Finolex, Plaza	complete wolate) and Ir	ith smart pack J nternal. witing for	unction Box r terminal to
	94	7.00	Numbers	2312.68	16188.76	AT Par	16188.76	
94		tion:- Stra			ing Kit with heat			qmm 1.1kV
	95	7.00	Numbers	1602.13	11214.91	AT Par	11214.91	
95	Descrip grade ca				ing Kit with heat	shrinkable		qmm 1.1kV
	96	7.00	Numbers	2312.68	16188.76	AT Par	16188.76	
96	grade ca		ight througl	h cable joint	ing Kit with heat	shrinkable	kit for 3.5x95 s	qmm 1.1kV
97	97	8.00	Numbers		7552.00	AT Par	7552.00	
3,	Descrip	tion:- 250	gram Breath	ner for AT (1				
98	98	30.00	Numbers		42480.00	AT Par	42480.00	
30	Descrip	tion:- 500	gram Breath		or AT (25KVA, 50k	VA & 100K	VA)	
99	99 Descrip	30.00 tion:- Silica	Kg a Gel	315.00	9450.00	AT Par	9450.00	
100	100	50.00	Numbers	3315.80	165790.00	AT Par	165790.00	
100	Descrip			0mm sweep	industrial type) 8462.96			
	101	4.00	Numbers		0402.90	AT Par	8462.96	
101	101	4.00	Numbers			٠,٨		
	Descrip	tion:- ELCE 4.00	B AC type ra Numbers	ting-10A, Lea 2116.33	akage current-30n 8465.32	AT Par	8465.32	
101 102	Descrip 102 Descrip	tion:- ELCE 4.00 tion:- ELCE	B AC type ra Numbers B AC type ra	ting-10A, Lea 2116.33 ting-16A, Lea	akage current-30n 8465.32 akage current-30n	AT Par	<u>'</u>	
	Descrip 102 Descrip 103	4.00 tion:- ELCE 4.00	B AC type ra Numbers B AC type ra Numbers	ting-10A, Lea 2116.33 ting-16A, Lea 2116.92	akage current-30n 8465.32 akage current-30n 8467.68	AT Par nA AT Par	8465.32 8467.68	
102	Descrip 102 Descrip 103	4.00 tion:- ELCE 4.00	B AC type ra Numbers B AC type ra Numbers	ting-10A, Lea 2116.33 ting-16A, Lea 2116.92	akage current-30n 8465.32 akage current-30n	AT Par nA AT Par	<u>'</u>	

Page 5 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

	Description:- F	I CB AC type ra	ating-32A Lea	kage current-30m	nΔ		
		00 Numbers		8584.50	AT Par	8584.50	
105				kage current-30m		0304.30	
		00 Numbers			AT Par	13508.64	
106				ikage current-30m		13300.04	
		00 Numbers		2814.30	AT Par	2814.30	
107	1			elain Fuse Carrier		201 1130	
		00 Numbers		3274.50	AT Par	3274.50	
108				elain Fuse Carrier		327 1.30	
	•	00 Numbers		4194.90	AT Par	4194.90	
109				elain Fuse Carrier			
	110 40.			19352.00	AT Par	19352.00	
110				age 415 V Bakelite			
	111 25.			_	AT Par	12095.00	
111				tage 415 V Bakeli			
	112 10.			4838.00	AT Par	4838.00	
112				tage 415V Bakelit			
	113 10.			5605.00	AT Par	5605.00	
113				tage 415V Bakelit			
	114 15.			7257.00	AT Par	7257.00	
114	Description:-						
	115 15.		1	7257.00	AT Par	7257.00	
115	Description:- H			, , ,	711	, , ,	
	116 15.			7257.00	AT Par	7257.00	
116	Description:- H			, , ,	711	, , ,	
	117 15.			7257.00	AT Par	7257.00	
117	Description:- H						
	118 15.			7257.00	AT Par	7257.00	
118	Description:- H			7237100	711 1 41	7237100	
	119 40.			16992.00	AT Par	16992.00	
119	Description:- L				711 1 41	10332.00	
	120 50.			189390.00	AT Par	189390.00	
120	1			240 V 50Hz, IP-66		103330.00	
	121 25.		1		AT Par	154875.00	
121	Description:- L				711 1 41	13 107 3100	
	122 25.			168445.00	AT Par	168445.00	
122	Description:- L				711141	100115.00	
	123 25.				AT Par	54870.00	
123	Description:- L				711 1 41	3.070.00	
	124 10.				AT Par	57820.00	
124	Description:- C					3,320.00	
	125 10.			57820.00	AT Par	57820.00	
125	Description:- N				711 1 41	37020.00	
	126 10.			57820.00	AT Par	57820.00	
126	Description:- R				711 1 41	37020.00	
	127 20.			118000.00	AT Par	118000.00	
127	Description:- N				711 1 41	110000.00	
		00 Numbers		26578.32	AT Par	26578.32	
128	Description:- H				, (i i ui	203,0.32	
	129 20.			82600.00	AT Par	82600.00	
129	Description:- S			02000.00	ATTUI	32000.00	
	130 20.			79060.00	AT Par	79060.00	
130	Description:- H		J9J3.00	79000.00	AI Fai	7 3000.00	
	131 15.	-	4484.00	67260.00	AT Par	67260.00	
131	Description:- C				Airai	37200.00	
101	Description.	ornomed optic	an simulce/mea	t detector			

Page 6 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

132	Descript Last Last Descript Last Last Descript	ion:- Faul 10.00 ion:- Batt Item Qty or works r sasis) 700.00 cion:- Colleble of differ bricks of and all sur 25.00 cion:- Eart 5b(latest-venclosure on top, co	Numbers ery 12V 28A Qty Unit related to m Metre ecting, transferent sizes covering and face require Numbers thing with 4 version) to a with hinged innection fro Metre	4720.00 FDA system 3540.00 H suitable fo Unit Rate aintenance a 57.35 sporting form Laying dired refilling the das per releven 963.25 to mm dia Gachieve eartle	35400.00 r FDA system UL s Basic Value ctivity of E & M as 40145.00 n DFC store to s ect in ground (in e trench etc.), c vant technical spec 24081.25 GI pipe class B,	Escl.(%) ssets(As AT Par ite, laying, ncluding e direct in R ccifications.	99120.00 28320.00 35400.00 Amount 353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	
133 1 1 1 1 1 1 1 1 1	Descript Last Last Descript Last Last Descript	10.00 ion:- Faul 10.00 ion:- Batt Item Qty nor works reasis) 700.00 ion:- Colleble of differ bricks cond all sur 25.00 tion:- Eart 55b(latest-venclosure on top, co	Numbers t Isolator for Numbers ery 12V 28A Qty Unit related to make the section of the section	4720.00 FDA system 3540.00 H suitable fo Unit Rate aintenance a 57.35 sporting form Laying dired refilling the das per releven 963.25 to mm dia Gachieve eartle	UL series 35400.00 r FDA system UL s Basic Value ctivity of E & M as 40145.00 n DFC store to s ect in ground (i) e trench etc.), c yant technical specifications 24081.25 GI pipe class B,	AT Par series Escl.(%) ssets(As AT Par ite, laying, ncluding edirect in Recifications.	35400.00 Amount 353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	Unit Above/Below/Par
133	Descript Item Code e () 3-Min rement E Descript HL/LT ca protectio crossing a Descript 18044/198 masonry 100mm) B Descript Track/roa	Item Qty nor works reasis) 700.00 cion:- College of different bricks of and all sur 25.00 cion:- Eart 5b(latest-venclosure on top, co 250.00 cion:- Inseed etc as per cion:- Batt	Numbers ery 12V 28A Qty Unit related to make the sizes covering and face require Numbers thing with 4 wersion) to 6 with hinged innection from Metre	FDA system 3540.00 H suitable fo Unit Rate aintenance a 57.35 sporting form Laying directly	UL series 35400.00 r FDA system UL s Basic Value ctivity of E & M as 40145.00 n DFC store to s ect in ground (i) e trench etc.), c yant technical specifications 24081.25 GI pipe class B,	AT Par series Escl.(%) ssets(As AT Par ite, laying, ncluding edirect in Recifications.	35400.00 Amount 353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	Unit Above/Below/Par
S.No. Schedule per requir 1	Descript Item Code () 3-Min rement E Descript HL/LT ca crossing c Descript 3044/198 masonry 100mm) Descript crack/roa	Item Qty nor works reasis) 700.00 Ition:- Colleble of differ bricks condition:- Eart 55b(latest-venclosure on top , co 250.00 Ition:- Inseed etc as per condition:- Condition:- Inseed etc as per condition:- Inseed etc.	Qty Unit related to make the ecting, transferent sizes covering and face require Numbers thing with 4 version) to a with hinged innection from Metre	Unit Rate aintenance a 57.35 sporting form Laying direfilling th d refilling th d as per releven 963.25 to mm dia Gechieve eart	Basic Value ctivity of E & M as 40145.00 n DFC store to sect in ground (in e trench etc.), covant technical specific pipe class B,	Escl.(%) Escts(As AT Par ite, laying, including edirect in Recifications.	Amount 353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	Unit Above/Below/Par
S.No. Schedule per require 1	Description of the control of the co	or works reasis) 700.00 cion:- Collible of different bricks of and all sure 25.00 cion:- Eart 55b(latest-venclosure on top , co 250.00 cion:- Inseed etc as per control or cont	Metre ecting, transferent sizes tovering and face require Numbers thing with 4 wersion) to 6 with hinged innection fro	Unit Rate aintenance a 57.35 sporting form Laying dired refilling the das per releved 963.25 to mm dia Gachieve earti	Basic Value ctivity of E & M as 40145.00 n DFC store to sect in ground (in ground (in ground etc.), covant technical special pipe class B,	Escl.(%) ssets(As AT Par ite, laying, ncluding e direct in R ccifications.	353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	Unit Above/Below/Par
Schedule per requir 1 1 2 2 2 3 3 4 4 4 5 S.No.	Code e () 3-Min rement E Descript AL/LT ca protectio prossing a Descript 8044/198 masonry 400mm) B Descript Perack/roa	Oty nor works reasis) 700.00 cion:- Collible of different bricks condall sure 25.00 cion:- Eart 55b(latest-venclosure on top , conduction:- Inseed etc as per constant of the	Metre ecting, transferent sizes covering and face require Numbers thing with 4 version) to 6 with hinged innection fro	57.35 sporting form Laying dired refilling the das per relevance 963.25 mathematical mathematical mathematical form dia (achieve eart)	40145.00 n DFC store to sect in ground (in e trench etc.), covant technical specific 24081.25 GI pipe class B,	AT Par ite, laying, ncluding e direct in R ccifications.	353260.43 40145.00 testing & comm xcavating, sand CC/metal pipe in	Unit Above/Below/Par
per requir 1 1 1 2 2 2 3 3 4 4 4 5 C C d d	Description of the control of the co	700.00 ion:- Collible of different bricks cand all sures 25.00 tion:- Eart 55b(latest-enclosure on top, co 250.00 tion:- Inseed etc as ped detc as ped	Metre ecting, transferent sizes covering and face require Numbers thing with 4 version) to a with hinged innection fro	57.35 sporting form . Laying diredilling the das per releved 963.25 to mm dia Gachieve earti	40145.00 n DFC store to sect in ground (in e trench etc.), contract technical specific 24081.25 GI pipe class B,	AT Par ite, laying, ncluding e direct in R crifications.	40145.00 testing & comm xcavating, sand CC/metal pipe in	Above/ Below/Par
1	Descript AL/LT ca protectio prossing a Descript Masonry Momm) B Descript Prack/roa	700.00 cion:- Collible of diffinition bricks of and all sures. 25.00 cion:- Eart of the sure on top, co 250.00 cion:- Inseed etc as per collibration.	ecting, transferent sizes covering and face require Numbers thing with 4 version) to a with hinged innection fro	sporting form Laying dire refilling th d as per relev 963.25 mm dia G achieve eart	n DFC store to sect in ground (in extremely technical specific properties of the details of the	ite, laying, ncluding e direct in R ecifications	testing & comm xcavating, sand CC/metal pipe in	issioning of
1 Hpp c 2 2 3 mm 4 4 D C d d	Descript Descript Descript Descript Descript Descript Descript Descript Descript	ble of different bricks of and all sure 25.00 biom:- Eart enclosure on top, co 250.00 biom:- Inseed etc as per sure on top per sure on top, co 250.00 biom:- Inseed etc as per sure on top per sure on top per sure on top, co 250.00 biom:- Inseed etc as per sure on top per	ferent sizes covering and face require Numbers thing with 4 version) to 6 with hinged nnection fro	. Laying dired refilling the das per relevant 963.25 mm dia Gachieve eartl	ect in ground (in e trench etc.), of vant technical spe 24081.25 GI pipe class B,	ncluding e direct in R ecifications.	xcavating, sand CC/metal pipe in	
2 3 n 4 4 4 D C C d d	3044/198 masonry 400mm) 3 Descript track/roa	tion:- Eart 55b(latest- enclosure on top , co 250.00 tion:- Insed	thing with diversion) to a with hinged nnection fro	10 mm dia (achieve eartl	GI pipe class B,			road/track
2 3 n 4 3 3 D tr 4 4 D C C d d	3044/198 masonry 400mm) 3 Descript track/roa	5b(latest-\ enclosure on top , co 250.00 ion:- Insed d etc as pe	version) to a with hinged nnection fro Metre	achieve eartl		AT Par	24081.25	d ac nor IC
3 D tr	Descript rack/roa Pescript	t ion:- Inse d etc as pe		m earth elec 1117.51		than 5 oh ocking Arra	m , including con angement (approx	struction of
4 D C C d	1 Descript			PE Pipe by		pipe pusl	ning method , un	der railway
S.No.		4.00	Each	2414.17	9656.68	AT Par	9656.68	
		Concrete	& sand (1:3	3:6) & muffin			le with earth exca r manufacturer dr	
	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	e () 4-Ma	intenance	of Pumps (A	s per require	ment basis)		267429.36	Above/ Below/Par
1	L I	8.00	Each	3461.58	27692.64	AT Par	27692.64	
1 n	L20 mtr. nut bolt e	From the e	existing bore uired (for Ea	well with the	help of powered	lifting lowe	t with GI pipe line, ering machine i/c o	
2		8.00	Each		27692.64	AT Par	27692.64	na machina
² c	complete	with GI pi	ipes/cables i	/c jointing th		es binding	ower lifting/loweri along with the pip)	
3		8.00	Each	10964.96	87719.68	AT Par	87719.68	
3 re	eplacem Bottom b	ent of all our and ushes and	defective ma replacemer	aterials/ parts nt of pump m	viz., Impellers, Notor coupling stu	leck Rings, ds i/c align	pump set with pr Rubber Bushes, p ment, testing, cor ump) up to 15 HP)	oump Top & mmissioning
4	1	8.00	Each	9216.74	73733.92	AT Par	73733.92	
S	superior/s	standard o c credit co	quality insul ost of dismar	ated winding ntled copper	wire complete and connection te	with disma esting etc. a	block pump in the block pump i	ed/worn out
р	oush butt	ons, amm	eter and vol	tmeter ,com ing lamp con		t suitable f	30449.68 -12 Amp made ou or 7.58 HP subme	
	5	4.00 i on:- Supr	Each oly & Installa	5035.20 ation of Star-	20140.80 Delta Contractor f	AT Par for pump s	20140.80 et/motor suitable	for up to 15
6 D	Descript ⊣P.				Basic Value	Escl.(%)		
6 D H		Item Qty	Qty Unit	Unit Rate			Amount	Bidding Unit
6 DH	Item Code e () 5-Ma	Item Qty intenance	_		attending Cable fa		Amount 500000.00	

Page 7 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 Closing Date/Time: 27/06/2025 15:00

1											
_							le fault, in additio				
	E&M iten	ns for mair	itenance as	and when red	quired or on discre	etion of Eng	jineer in-charge a	t site.			
C N -	14	14	0	11!s Dt.	Dania Wales	E 1 (0()	A	Distribution or			
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit			
Schedu	ı le () 6-Re	filling of Fi	re Extinguisl	her & Gas top	up in AC		678405.00	Above/ Below/Par			
1	1	10.00	Numbers	796.50	7965.00	AT Par	7965.00				
1	Description:- Refilling of ABC type fire extinguisher 2/3 Kg.										
2	2	25.00	Numbers	973.50	24337.50	AT Par	24337.50				
2	Description:- Refilling of ABC type fire extinguisher 4 Kg.										
2	3	100.00	Numbers	708.00	70800.00	AT Par	70800.00				
3	Description:- Refiling of Co2 type fire extinguisher 4.5Kg.										
4	4	30.00	Numbers	18644.00	559320.00	AT Par	559320.00				
4	Descript	tion:- Refi	lling of Clear	n agent fire e	xtinguisher 4 Kg (HFC227)					
_	5	15.00	Numbers	1065.50	15982.50	AT Par	15982.50				
5	Descrip	tion:- Gas	top up in AC	split/window	I	"					
	1					- 1 (0/)					
S.No.	Item	Item	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit		
Schedule () 7- Any item of CPWD Delhi Schedule of rate (E&M) as per requirement for the execution of the work during the maintenance period							500000.00	Above/ Below/Par		
	Lump Su	m			500000.00	AT Par	500000.00			
	Description :- Any item of CPWD Delhi Schedule of rate (E&M) as per requirement for the execution of the work during the maintenance period									

3. ITEM BREAKUP

No item break up added

4. ELIGIBILITY CONDITIONS

Special Financial Criteria

S.No.	Description	Confirmation Required		Documents Uploading
1	The tenderer must have minimum average annual contractual turnover of V/N or 'V' whichever is less; where V= Advertised value of the tender in crores of Rupees N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIB, along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/ Certificate from Chartered Accountant duly supported by Audited Balance Sheet.	No	No	Allowed (Mandatory)

Special Technical Criteria

S.No.	Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading

Page 8 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

1	The tenderer must have successfully completed or substantially completed any one of the following categories of work(s) during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: (i)Three similar works each costing not less than the amount equal to 30% of advertised value of the tender, or (ii)Two similar works each costing not less than the amount equal to 40% of advertised value of the tender, or (iii)One similar work costing not less than the amount equal to 60% of advertised value of the tender. Similar works means: - "Satisfactory execution of any electrical work related to Services Building/Staff quarters/ office buildings/ Road & colony lighting/ circulating area lighting / Yard Lighting/ washing Pit, Shed & workshop /HT or LT installations."	No	No	Allowed (Mandatory)
2	The Contractor should have valid A-Class Electrical license to be submitted along with tender failing which tender would be consider ineligible (i.e. not eligible).		No	Allowed (Mandatory)

5. COMPLIANCE

Check Lst

Ī	S.No.	Description	Confirmation	Remarks	Documents
			Required	Allowed	Uploading
ĺ	1	As per Bid document	No	No	Not Allowed

Commercial-Compliance

S.No		Confirmation Required		Documents Uploading
1	As per Bid Document	No	INO	Allowed (Mandatory)
2	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	ΥΔς	Allowed (Optional)

General Instructions

S.No.		Confirmation Required		Documents Uploading
1	As per Bid Document	No	No	Not Allowed
2	Cost of Tender documents receipt to be uploaded. Earnest money (Bid Security) receipt to be uploaded	No	No	Not Allowed
3	Rates are inclusive of GST.	No	No	Not Allowed
4	Minimum service charge to be quoted by tenderers on Schedule-		No	Not Allowed

Technical-Compliances

S.No.		Confirmation Required		Documents Uploading
1	As per Bid Document	No	INo	Allowed (Mandatory)
2	As per Bid Document	No	INO	Allowed (Mandatory)

Undertakings

ĺ	S.No.	Description	Confirmation	Remarks	Documents
			Required	Allowed	Uploading
ĺ	1	As per Bid documents	No	No	Not Allowed

6. Documents attached with tender

S.No.	Document Name	Document Description
1	TenderDocument.pdf	Tender document

Page 9 of 10 Run Date/Time: 14/06/2025 11:20:58

Tender No: 2025-26-DDUN-EL-T02 **Closing Date/Time:** 27/06/2025 15:00

2	GCC_April-2022_1.pdf	GCC April 2022
3	GCC-Correction-Slips.pdf	GCC correction slip
4	DFCC_circular_13_2017.pdf	DFCC Circulars 13 2017

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: BALESHWAR SINGH

Designation: PMElec/DDU

Page 10 of 10 Run Date/Time: 14/06/2025 11:20:58